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ippearance should remind you of how to compute the slope of a straight line.

Procedure
I Installamblemdwithamdc]ampnwilsmp.Smmdas;xingﬁomﬂrclampA

2 AnachaSOgweighthookwithaSOgslotmassonitmthcspring. Record the initial
mass of 100 g as mj. Thcpmmtermwillmpmentthemtalmnssouthespring.

3. Place the meter stick vertically alongside the hanging mass. Measure the elongation
of the spring and record it as x7. Always be sure to measure starting at the same place

either on the table or on the clamp.

4. Addas0g slot mass to the hook and record m> (150 g). Read the meter stick and
recordszRepeal,ﬁnd.ingxs,y,n,andxawithtmalmam200g,250g,300g,
md350g.Rwordallﬂxemamandelongxﬁonsomhcfmmpmvided_

Analysis

ConvmaﬂmmmNemon’sandaumetns&ckmdingmmem. s

z Plotall\hcdatxonmegmphpapu'.Fwﬂlbepkmndmlhcvuﬁmldixecﬁon.whﬂez
wiﬂbeplonediuthchoﬁmnmldirecﬁonhbdﬂnaxcsofyomgmphandincludc
units.

: 4 Tukeastraiglnedgeanddmwasingle“bestﬁt"linethmughallﬂledatapoints.

4. Measure the "rise over run" (the slope) of this line. This is your experimental value
for the spring constant. In what units should k be reported?

Conclusions

1. Write down you general conclusions for this experiment. These conclusions should
include the value of the spring constant k and an estimate of its error.

2. Did your plotted data form a straight line? Does the data from another shape, perhar
a parabola?

3. If your graph was nota straight 1i#fé, what does this tell you about the spring?




[image: image2.jpg]4. Consider a set of two identical springs each of spring
constant k connected in parallel (side by side) to a single
mass. What would you expect the total spring constant to
be of the system? Why? (Hint: think about the spring
force as a vector.)

Look at how much the points scatter around your "best fit" line. The more they scatter,
the poorer the precision. Does the graph form some other shape besides a straight line,
such as a parabola? (This could mean that Hooke's Law is not valid for this spring.) Wha
s your estimate of the error in k and how did you estimate this error? What are the
sources of error for your data points and what is the relevance of these errors in your
determination of k?
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Conclusion:

Error:
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